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Specifications:
SIMULATION & ANALYSIS DETAILS:

 Particles: pi-

« Events: 100000 (0-30 GeV)

* Various Cuts used:

- Pseudorapidity cuts on each calorimeter:
* Pion:
- Barrel Region: n=1.32t03.14
— Clustering cut based on theta and phi values
- Theta-dependent energy cut on individual tower energies

- 100MeV cut on aggregated tower energies (FEMC+FHCAL) for each
event :
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Forward Region: Manual correction of FEMC energies
(UNCALIBRATED)
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Forward Region: FEMC(manually corrected) + FHCAL
(UNCALIBRATED)
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FEMC+FHCAL: Gaussian fits
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FEMC+FHCAL.: gaussian fits
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Forward Region: AFTER CALIBRATION

- aggregated (FEMC+FHCAL) energies calibrated using fit function obtained from means
from raw Gaussian fits of (te(FEMC+FHCAL)-ge)/ge
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FEMC+FHCAL: Gaussian fits
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FEMC+FHCAL.: gaussian fits
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THANKS!
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